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Area of Circle =

Diameter of Circle =

Radius of Circle = or

Circumference of Circle

Degrees from Tangent and Radius =

Degrees in a Polygon =

SA of a Rectangle =

3 Special Right Triangles

e Volume :

Volume of Cylinder =
Surface Area of Cylinder =
Volume of a Box =
Surface Area of Box =
Volume of Cube =

Surface area of a cube =

2 4

Ratio of volume:

5
3 3
1 1 .
Ratioof area: __
1 3
Area of Circle =mr?
Diameter of Circle =2r
R?dlus of Circle . =r or df2 Volume of Cylinder =mr2h
Circumference of Circle =2mr .
. Surface Area of Cylinder =2nr2 + 2mnrh
Degrees from Tangent and Radius = 90
Volume of a Box =lwh
Degrees in a Polygon =180(n-2) Surface Area of Box =2Ilw+2wh+2lh
Volume of Cube =S3
SA of a Rectangle - Surface area of a cube =652
3 Special Right Triangles = 3-4-5, 6-8-10, 9-12-15 -
5-12-13, 10-24-26
8-15-17
ﬂ If two similar triangles have corresponding
U marrh side lengths in ratio a:b, then their areas will
. o be in the ratio a%:b?
= w25
=20 For similar solids with sides in ratio a:b their

volumes will be a3:b? (note, cubed, not squares)



D= Volume:

Surface Area
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EQUALS
&
Area method 1 = base * heigﬁt Volume 4

Area method 2 = (d1 * d2) /2 V--a-nr’



	Slide Number 1
	Slide Number 2
	Slide Number 3

